KOLAR Document ID: 1737948

Notice: Fill out COMPLETELY and return to Conservation Division at the address below within 60 days from plugging date.

Kansas Corporation Commission Oil & Gas Conservation Division

WELL PLUGGING RECORD K.A.R. 82-3-117

Form CP-4
March 2009
Type or Print on this Form
Form must be Signed
All blanks must be Filled

OPERATOR: License #:			I APIN	lo. 15 -				
				Description:				
Address 1:			l '	•	wp S. R East West			
				Feet from South Line of Section Feet from East / West Line of Section				
City:	State:							
Contact Person:			Foota	ages Calculated from Near	est Outside Section Corner:			
Phone: ()				NE NW	SE SW			
Water Supply Well ENHR Permit #: Is ACO-1 filed? Yes Producing Formation(s): List	Other: Gas S No If not, is w All (If needed attach anoth	Storage Permit #:	Lease Date No The p	County: Well #: Date Well Completed: The plugging proposal was approved on: (Cate) by: (KCC District Agent's Name)				
Depth to	•	ttom: T.D	Plugg	ging Commenced:				
Depth to		ttom:T.D	Plugg	ging Completed:				
Бериги	о юр во	itom 1.D						
Show depth and thickness of	all water, oil and gas for	mations.						
Oil, Gas or Wate	r Records		Casing Record	Casing Record (Surface, Conductor & Production)				
Formation	Content	Casing	Size	Setting Depth	Pulled Out			
	•	gged, indicating where the mu of same depth placed from (b	•		ods used in introducing it into the hole. If			
Plugging Contractor License	#:		_ Name:					
Address 1:			_ Address 2:					
City:			State:	:	Zip:+			
Phone: ()								
Name of Party Responsible for	or Plugging Fees:							
State of	County	/ ,	, SS.					
(Print Name)				Employee of Operator or	Operator on above-described well,			

being first duly sworn on oath, says: That I have knowledge of the facts statements, and matters herein contained, and the log of the above-described well is as filed, and the same are true and correct, so help me God.

SURFACE Pipe

Quality Well Service, Inc.

PO Box 468 Pratt, KS 67124

Invoice

Date	Invoice #				
10/19/2023	C-3349				

Bill To

Vincent Oil Corporation
200 W. Douglas, Ste. 725
Wichita, KS 67202

P.O. No.	Terms	Lease Name		
		Perkins-Close #1-3		

Description	Qty	Rate	Amount
8 5/8" Head & Manifold	1	250.00	250.00T
8 5/8 Baffle Plate	1	135.00	135.00T
8 5/8 Wooden Plug	1	135.00	135.00T
MDC	150	18.00	2,700.00
Common	150	16.75	2,512.50
Gel	564	0.22	124.08
Calcium	846	1.50	1,269.00
Flo-Seal	150	3.70	555.00
SFC 501-1500'	1	1,000.00	1,000.00
Handling	332	2.10	697.20
.10 * sacks * miles	12,000	0.10	1,200.00
Service Supervisor	1	500.00	500.00
LMV	65	4.50	292.50
Heavy Equipment Mileage	195	9.50	1,852.50
Customer Discount		-3,305.70	-3,305.70
Discount Expires after 30 days from the date of the invoice		0.00	0.00
[
Perkins-Close #1-3			
Ford Co.			
	1		
PLEASE REMIT TO ABOVE COMPANY & ADDRESS! Thank you for your business!	Subtota	ı	#A 017 00
	Jubiota	•	\$9,917.08
	Sales Ta	ax (7.5%)	\$29.25
	Total		
	Total		\$9,946.33

8412

QUALITY WELL SERVICE, INC. Federal Tax I.D. # 481187368

Home Office 30060 N. Hwy 281, Pratt, KS 67124
Mailing Address P.O. Box 468

Office 620-786-6992 Fax 620-672-3663 Todd's Cell 620-388-4967 Brady's Cell 620-727-6964

	Sec.	Twp.	Range		County	State	On Location	Finish	
Date 10-17-23		295	23W		F020	Ks			
Lease PEKINS	(Nel	I No.	1-3	Locati	on				
Contractor DUKE D	26	+1		Owner					
Type Job SUR-LOUIS					To Quality We	ell Service, Inc.	cementina equipment	and furnish	
Hole Size 1214	Т	.D.	652		cementer an	d helper to assist own	ner or contractor to do	work as listed,	
Csg. 35/8 23 V	D	epth	650		Charge /	INCENT OIL	. COLD		
Tbg. Size	D	epth			Street				
Tool	D	epth			City		State		
Cement Left in Csg.	S	shoe Jo				s done to satisfaction ar		agent or contractor.	
Meas Line	D	Displace	39.8	G	Cement Amo	ount Ordered 150		1273	
	EQUIPME	NT			1504 6	ommos 216 GEL	31.10 1/2 195		
Pumptrk 3 No.					Common /	15091			
Bulktrk No.					Poz. Mix	1504			
Bulktrk 12 No.					Gel. 54	46 lbs			
Pickup No.					Calcium	946 lbs			
JOB SEF	RVICES &	REMA	RKS		Hulls				
Rat Hole					Salt				
Mouse Hole					Flowseal	50 lb		1 There	
Centralizers	A				Kol-Seal			§	
Baskets					Mud CLR 48				
D/V or Port Collar					CFL-117 or	CD110 CAF 38			
Kin 15 -41'6 9	5/323	CSh	SET 0 650) '	Sand				
STATE CSL CSLOP	Botto	m			Handling 3	32			
Hook up to CSG !	BEENL	CITL	Was		Mileage 65	5/12000			
JINT Pompial HZ	0				95/	FLOAT EQUIPM	ENT		
START MK Bom LE	CAO 15	141	10C 12×/6	16	Guide Shoe /4-17) EA				
STALT MIX & PUMA +	mil 15	i) Sc.	Common		Centralizer BAFFLE PLATE 1 EA				
Z! (EL 31. (1 1/1)	15 0 19	34	il		Baskets INDINE Plot I EN				
SHUT DOWN RELE	NGE BS/	le wo	DOEN Plul	7	AFU Inserts				
STAZT DISO					Float Shoe				
P106 Dolun 39 4/1, 500				Latch Down					
Close VALUE ON CUL				SERVICE SIN LEA					
Good rid throw 2013					LYV	65			
CLRI CMT TO VIT					Pumptrk Cha	irge Sueface			
THON YOU					Mileage 195				
PENY CON DEAM							Tax		
7000 U	JOOD MATT ARTHUR JACKS						Discount		
Signature A A	ignature have Hally						Total Charge		
1	7-1				N*			Taylor Printing, Inc.	

Quality Well Service, Inc.

PO Box 468 Pratt, KS 67124

Date	Invoice #
11/7/2023	C-3365

Bill To Vincent Oil Corporation 200 W. Douglas, Ste. 725 Wichita, KS 67202

	P.O. No.	Terms		Le	ase Name
				Pe	rkins-Close
Description		Qty	Rat	te	Amount
Common Poz Gel Plug/Pump Charge Handling .10 * sacks * miles Service Supervisor LMV Heavy Equipment Mileage Customer Discount Discount Expires after30 days from the date of the invoice Perkins-Close Ford Co.		102 68 585 1 176 11,000 1 65 130	;	16.75 9.50 0.22 100.00 2.10 0.10 500.00 4.50 9.50 062.05 0.00	1,708.50T 646.00T 128.70T 1,100.00T 369.60T 1,100.00T 500.00T 292.50T 1,235.00T -1,062.05 0.00
PLEASE REMIT TO ABOVE COMPANY & ADDRESS! Thank yo	u for your business!	Subtotal			\$6,018.25
		Sales Ta	x (7.5	5%)	\$451.37
		Total			\$6,469.62

8426

QUALITY WELL SERVICE, INC. Federal Tax I.D. # 481187368

Home Office 30060 N. Hwy 281, Pratt, KS 67124
Mailing Address P.O. Box 468

Office 620-786-6992 Fax 620-672-3663 Todd's Cell 620-388-4967 Brady's Cell 620-727-6964

	Sec.	Twp.	Range	County	State	On Location	Finish			
Date 10.26.23	3	295	23W	FORT	Ks					
Lease KEXING Class	V	Vell No.		Location						
Contractor Doll E	P. 6.	4	Owner							
Type Job PIA			To Quality W	/ell Service, Inc.	nt cementing equipment	t and furnish				
Hole Size 77/3	T.D.		cementer ar	nd helper to assist o	wner or contractor to do	work as listed.				
Csg.		Depth		Charge /	INCENT OF	L C320				
Tbg. Size		Depth		Street						
Tool		Depth		City		State				
Cement Left in Csg.		Shoe Jo	pint	The above wa	as done to satisfaction	and supervision of owner	agent or contractor.			
Meas Line		Displac	е	Cement Am	ount Ordered //	× 62/40 4/1	EL			
	EQUIP	MENT								
Pumptrk 3 No.				Common	122 51					
Bulktrk 15 No.				Poz. Mix	68 SX					
Bulktrk No.				Gel. 5	135 lbs					
Pickup No.				Calcium						
JOB SE	RVICES	& REMA	RKS	Hulls						
Rat Hole 2)				Salt						
Mouse Hole 2xx				Flowseal	Flowseal					
Centralizers				Kol-Seal	Kol-Seal					
Baskets				Mud CLR 48	3					
D/V or Port Collar				CFL-117 or	CD110 CAF 38					
15 Plub 1 1590		1		Sand						
Form 122 AAEAN		11		Handling /	176					
MIKE Pops 53 Se	60/40	41.6		Mileage 6	5/11.000					
Floren HE2					FLOAT EQUIP	MENT				
DKU WHI		1		Guide Shoe						
21/Phil & 650	1			Centralizer	Centralizer					
Ruma His Altern	-	7		Baskets	Baskets					
THIX Pomp 50sx (c)/4) 41. (c)				AFU Inserts	AFU Inserts					
Piso 1/2)				Float Shoe	Float Shoe					
30 Plub 0 W				Latch Down	Latch Down					
2) 10/40 4/ 656				SERVICE	SOU LEA					
D-M- 305 60/40 4% THEL				LMV	65		2727			
				Pumptrk Cha			FIFE			
UCP YUGHT				Mileage)						
PLEA E CALL AGAIN					Tax					
TAND COOT	st Ato				Discount					
X Signature // \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	11111				Total Charge					
7	150	61					Taylor Printing, Inc.			